(8) Enpand and simplify

$$
\begin{aligned}
& \log _{\frac{1}{3}}\left(g_{x}\left(y^{3}-8\right)\right)=-\log _{3}\left(g_{x}\left(y^{3}-8\right)\right) \\
& =-(\underbrace{\log _{3} 9}_{=2}+\log _{3} x+\log _{3}\left(y^{3}-8\right)) \\
& =-2-\log _{3} x-\log _{3}\left(y^{3}-8\right)
\end{aligned}
$$

Factin $y^{3}-8$ by notring that $y=2$ is a root:


$$
\log _{3}\left(y^{3}-8\right)=\log _{3}(y-2)+\ln \left(y^{2}+1 y+4\right) .
$$

Therefore,

$$
\log _{\frac{1}{3}}\left(y_{x}\left(y^{3}-8\right)\right)=-2-\log _{3} x-\log _{3}(y-2)-\log _{3}\left(y^{2}+2 y+4\right) \text {. }
$$

(25)

$$
\begin{aligned}
& \log _{7} x+\log _{7}(x-3)-2 \\
& =\log _{7} x+\log _{7}(x-3)-\log _{7} 49=\log _{7} \frac{x(x-3)}{49} .
\end{aligned}
$$

